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TOURISM ADMINISTRATION AND MANAGEMENT

Paper 11

Time Allowed : Ii—Hours] [Maximum Marks : 100

Note :— This paper contains Fifty (50) multiple choice questions, each question

carries two (2) marks. Attempt All of them.
1. In 1961 PATA established its first chapter in :
(A) India and Maldives (B) Germany and Sweden
(C) New Zealand and Hong Kong (D) Canada and Hawaii

2. Which of the following are Specialised Recreational Attractions (SRAs=) :

(A) Hill Stations (B) Theme Parks
(C) Monuments (D) Restaurants
3. Sustainable Tourism aims at :
(A) Environmental Purity ' (B) Community well-being
(C) Local Prosperity (D) All of these
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4. Which organisation was established on recommendations of Yunus

Committee ?
(A) IATO - (B) TFCI
(C) TAFI (D) FHRAI

5. Ecomuseum means as areas or regions with distinet heritage identity. This

concept originated in the country :

(A) Italy (B) Greece

(C) France (D) Britain
6. What does EDI stand for ?

(A) Exchange Data Information

(B) Electronic Document Interchange

(C) Electronic 'Dat;i Interchange

(D) Exchange of Data Internationally
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7. In the question given below there are two statements, one labelled as

Assertion (A) and the other labelled as the Reason (R).

Assertion (A) ¢ Tourism is intensely Geographic phenomenon.

Reason (R) : Tourism stimulates large scale movement of people on an

increasingly globalized scale and forges distinctive rela-
tionship between people-as Tourists and the spaces and
places they visit. It has significant implications for process
of physical development and resource exploitation, whilst
the presence of visitors will frequently exert a range of

economic, social, cultural and environmental impacts.

In the context of the two statements, which of the following is correct 7

(A)
(B)
(C)

(D)

Both (A) and (R) are true but (R) is not the correct explanation of (A)
Both (A) and (R) are true and (R) is the correct explanation of (A)
{A) is true but (R) is false

(A) is false but (R) is true

8. Regarding handicrafts Aurangabad is famous for its :

(A)
(B)

(C)

(D)

Morjaris and Bandies
Tie and Dye Fabrics

Paithani Sarees and Himroo Shawls

Variety of Kundan Jewellery
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9. Which one of the following usually generates the highest rate of commission

for travel agents ?
{A) Airline Tickets 7 (B) Hotel Reservations -
(C) Travel Insurance (D) Traveller's Cheques
10. Which of the following is not a service innovation strategy ?
(A) Branded service innovation
(B) Established service innovation
(C) Incremental service innovation
(D) Radical -service innovatjon
11. Developing a product and brand image in the minds of consumers that can

also include improving a customer’s perception about the experience they will

have if they choose to purchase any product or service, is called :
(A) Branding (B) Positioning

(C) Targeting (D) Segmentation

T.B.C. : 2014/ET—II 8



9. frefefes & | fFeg 39w = %1 e o iias Sd9vE wa g & 7
(A) waEme fewe (B) W= Ry
(C) = Hrm - (D)wsﬁ%as
10. Tr=fefas § § F@d@ S =g oy & & 2
(A) =wET a1 TEEY
(B) wﬁaﬁmﬂﬁﬂ.
(C) sgfssiier |a1 =699
(D) ¥Hfgs FF &=y

11. 3ydEas & w1 # Som 3R wis sl w1 fawfan s faud soviemsd & =9
FHYE F vy ¥ H ot wie fF oW g &, S 3 T s sigen Een

! wiTY T T SR w0, seem ¥
(A) @itEn (B) drsfraf

(C) =wmiten (D) TmEzyH
T.B.C. : 2914/ET—II 9 P.T.O.



12. Maslow’s Hierarchy of Needs faces criticism, because :

(A) little evidence for the ranking of needs that Maslow described or for the

existence of a definite hierarchy at all

(B) his definition of self-actualization is difficult to test scientifically

(C) most research has not been able to substantiate the idea of a needs

hierarchy
(D) All of the above”
13. The greatest threat to Coastal Tourism is from :
(A) Earthquakes (B) Cyclones
(C) Tsunami (D) Global warming

14. “Marketing research is the systematic and objective search for, and analysis
of, information relevant to the identification and solution of any problem in

the field of marketing.” This definition of Marketing Research was given

by :
(A) Pearson . (B) Green and Tull
(C) Philip Kotler (D) S.C. Johnson

T.B.C. : 29/14/ET—II 10
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15. The

(A)

(B)

(C)

(D)

standard error is a statistical measure of :

The normal distribution of scores around the sample mean

The extent to which a sample mean is likely to differ from the population

mean
The clustering of scores at each end of a survey scale

The degree to which a sample has been accurately stratified

16. Which of the following is nof a type of non-probability sampling ?

© 0 tolGD

(B)

(C)

(I

Snowball sampling
Stratified random sampling

Quota sampling

Convenience sampling

17. The term ‘Data processing error’ refers to :

(A)
(B)
(C)

D)

Activities or events related to the sampling process
Faulty techniques of coding and managing data
Problems with the implementation of the research process

The unavoidable discrepancy between the sample and the population

TBC : 2914/ET—I1 12
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18, In Statistics, the standard deviation is a measure that is used to .........ccooeevviees the

amount of variation or dispersion of a set of data values.
(A) Multiply (B) Divide
(C) Quantify : (D) Add

19. Match List-I with List-II and select the correct answer using the codes given

below the lists :
List-I List-I1
(@) Marketing mix . () Product basket offered by firm
(b) Product mix ~ (i) Set of related products
(e) Product line (iii) Collection of controllable
marketing variables
{d) Product diversiﬁ'cations (iv) Entering into new product areas
Codes : |
(@) b) (e) (d)

(A) Gv) (z) (iix) @
(B) (@) (zii) (iv) (3]
(C) Ga) (@) (z@) ()

D @ (i) (iv) (i)
TB.C. : 290/14/ET—I1 14
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: 20. Match the Sellers 4Ps with Customers 4Cs and choose the correct codes given
at the end of the lists :

List-1 List-11

(Sellers 4Ps) (Customers 4Cs)
{a) Product (¢2) Customer solution
(b) Price . (if) Customer cost
{(¢) Place (ziz) Convenience
(d) Promotion (iv) Communication
Codes :

(@) (b) (e) (d)
(A) @ (1) (i3d) (iv)

(B) (@) (&) (£47) (iv)
(C) () @) - (1) (iv)
(D) Gw) (&) (1) (iix)
21. Match List-I with List-II and select the correct answer using the codes given
below the lists :

List-I List-I1
(a) Stated need (z) Customer wants expensive car
(6) Real need (i) Customer wants a car with low
- operational cost
{c) Unstated need (ifz1) Customer expects good service
from dealer
(d) Delight need (iv) Customer would like the dealer to
include some good gift
Codes :
(@) (&) (e) (d)
(A) @) (iz) (z27) (iv)
(B) (u) (&) (221) (iv)
(C) (un) (iv) (£) (i)
(D) () (@) (i1} (iit)
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22. In terms of Marketing, what does “Motivation” mean ?
(A) An inner drive that reflects goal-directed arousal
(B) Bettér communication skills
(C) Inspiring employees to perform better
(D) (A) and (B) both

23. The activity that provides incentives to sales force to achieve objective is known

as :
(A) Sales Promotion (B) Sales Expansion
(C) Sales Relationship (D) Reward

24. Niche market means :
(A) a free market
(B) equity market
(C) capital market
(D) a specified market for the target group
25. What is the risk involved in the Tourism Marketing and Business ?
(A) Natural Risk (B) Competitive Risk

(C) Human and Political Risks (D) All of these

T.B.C. : 29/14/ET—II 18



22, fague =t veEmEet # ' sfairn’ = = osfhywg ¥ 2
(A) arafts sifvaE el wey Efvm SgEvm wfafEfaa 2 @
(B) - FgoR Hiwo Fwand
(©) i ® dew Frowes #@ Foon
(D) (A) 3k (B) I

23. aEfEd S wem e ¥ fawt @ fo Weuwd SUees wOdt ¥, weendt § o
(A) fot dremmn (B) fa=t famanm
(C) fTa=t waw (D) TEFR

24. f9% (Niche) faomm =1 sfuyra & .
(A) TF TF 9NN
(B)MW-
(C) dsit =M
(D) wfem w9 & o faddfiss @R

25. UdZA gR R =magw # e yer = few wive § 2
(A) wrfas wfEs (B) wfadrmes sifas

(C) wma Idr gedifos SifEs (D) A ws |
T.B.C. : 2914/ET—II 19 P.T.O.



217.

28.

29.

In case there are too many outliers in the data set, the most representative

average value is :
(A) Mean (B) Median
(C) Mode (D) None of these

When a new product is developed to achieve new growth objective, the growth

strategy of the firm is called :
(A) Market Penetration (B) Product Development
(C) Diversification (D) None of these

Available evidence suggests that holiday (vacation) propensity generally

increases with :
(A) Age (B) Size of Household
(C) Unemployment (D) Level of Education

For volume weight calculation, the dimensions of 81.6 x 56.2 x 36.5 cm are

rounded off to :
(A) 81 x 56 x 36 ecm (B) 82 x 56 x 36 cm
(C) 82 x 56 x 37 ¢cm (D) None of these

T.B.C. : 29/14/ET—I1 20
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30. Which one of the following is not the parametric test ?
{A) Chi-square test
(B) Mam-Whitney U-test
(C) t-test
(D) Wilcoxon signed-rank test
31. 'The forward hold (FWD) and aft cargo hold (AFT) are located in the :
(A) Upper deck (B) Main deck
(C) Lower deck (D) All of these

32. To address the constaints being faced by the hotel industry in obtaining
multiple clearances and to streamline the system for speedy clearances of

hotel projects, the Govt. of India has approved a board named as :
(A) Hotel Facilitation Board

(B) Hospitality Projects Approval Board

(C) Hotel Division and Promotion Board

(D) Hospitality Development and Promotion Board
T.B.C. : 2914/ET—II 22
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33. Profitability ratios are :

(A)
(B)

(C)

(D)

Absolute measures of profit
A profit maximising exercise
Ratios that reflect how much a company made relative to what it cost

to earn the profit

Ratios that reflect relationships between scale of operations and the

profits ’

34, Who amongst the following has given the ‘Needs Hierarchy Theory of

Motivation’ ?
(A) Herzberg (B) Maslow
(C) Vroom (D) Adams

35. The characteristic(s) of business ethics is/are :

(A)

(B)

(C)

(D)

Study of Goals and Means

Dynamic Philosophy

Relating to Human Aspects

All of the above

T.B.C. : 2914/ET—I1 24
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38. The concept of cost of capital is useful in :
(A) Capital budget decisions
(B) Capital structure decisions
(C) Both of the above (A) and (B)
(D) None of the above
37. ‘USP in marketing jargon refers to :
(A) Unassailable Selling Position
(B) User Satisfaction-based Pricing
(C) Universal Selling Proposition
(D) Unique Selling Proposition

38. The process of classifying customers into groups with similar needs,

characteristics of behaviour is called :
(A) Market segmentation

(B) Market development

(C) Market penetration

(D) Target marketing
T.B.C. : 29/14/ET—II 26
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39. The aim of Customer Relationship Management (CRM) is to produce high :
(A) Customer value
(B) Customer loyalty .
(C) Customer satisfaction
(D) Customer equity

40. When a consumer expresses thoughts, feelings, images, experiences,

beliefs, and so on that become asscciated with the brand, the consumer is

expressing ?
(A) Brand knowledge (B) Brand loyalty
(C) Brand preference (D) Brand quality

41. Promotion mix includes :
(A) Advertising, publicity, personal selling, promotion
(B) Physical attributes, brand, packaging and product life cycle
(C) Brand name, product benefits, delivery and credit

(D) Transportation, material handling, packaging and customer service
T.B.C. : 2914/ET—II | 28
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42, Which one of the following is the feature of a travel agency ?
(A) He sells services on behalf of hotels anq transport companies
(B) He purchases sites for hotels and transport companies
(C) He guides the tourists and their destinations
(D) He is a contractor to bring sites from the transport companies
43. In the terminologir of airports handling operations :
(A) the staff of the airline are spread throughout the logistics route
(B) Conveyor systems of airlines change from time to time
(C) Boarding passes are the documents to identify the luggage
(D) Baggage identification tags are attached only to suitcases
44. 'The costliest class in International Flights is :
(A C (B) Y

C) F D) J
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42. TrefEfags sfuag #§ f99 o 290 oSl 51 sfbyego & 2
(A) =T FaEa F994al AR 22| ¥ AR A g g9t 5= S 2
(B) =% #mEE H9idl 3R flem S fou 9 = wig s #
(C) ﬁvﬂzﬁmm‘ﬁaﬁ%mmmt
(D) =7 I wufE § =E wJhed g sieee §

43. famress (geeed) sem-Tas (Efem) weer 7 -

(A) TaE wTH (Imensd) ® wHArd R WuR 49 (affaRemm) o ow a
a0 E

(B) ¥aw =F9d w1 F@Iww yorelt (H¥% faew) wug-wwa W wiEfde @
T ¥

(©) #A¥n um, FWF F TEAE ® TEES §

(D) = g9 IR (M) IS FCLHE W TN TG
44. o sEr A waa W A6 ¥ -

(A) C© B Y

(C) F (D) J
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45. The product mix of the tourism industry includes :
(A) Accommodation (B) Recreation
(C) Transportation (D) All of these

46. Which one of the following data is not to be furnished to the appropriate

government authority by the proprietor or director of the

hotel :
(A) Economic or financial background of the proprietor or director
(B) Name of the' hotel
(C) Address of the hotel
(D) Total number of rooms
47. Who identified Mussoorie as a tourist attraction :
(A) Lord Dalhousie () Lord Clive

(C) Captain Young (D) Deboigne from France

48. In the 12th Five Year Plan, for Tourism Sector total outlay requirement |

(excluding Mega Projects) was worked out to be :
(A) Five thousand crore (B) Four thousand crore

(C) Three thousand crore (D) Six thousand crore
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45. YHeT TmErm & Swe mEv (Weee few) § wive ¥ o
(A) smar™ (B) wHRSH
(C) = D) = =

46. Tr=fefma # @ 59T == 2ed & Aias 19s Havek g staa g wifas
= T8 W 9sar ?

(A) wiferw aigan Fews =1 G sga afds geyE
(B) ®e& ¥ M.
(C) == =1 W
(D) =ud = /A HEN

47, vdzH amdw & w9 F wEgd F veEE A oS ?
(A) wrd zerdEi (B) wE FES
(C) === &1 (D) Tt feEEa

48. 1241 vmadty G § g4z 43 5 fou ww O smavasw (e ofeeeed &
faar) feaet et TE 49 2

(A) UiE TR HUL (B) =R B9R FUS

(C) ¥\ TR =33 (D) &: TR FUZ
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below the lists :
List-1
(Terms)

(a) Transit Flight

() Overview Slate room

(¢) . Cab

(d) AC Chair Car

Codes :

(@) (&)
(A) @ (@)
(B) @) (iv)

(C) (w) (i)
(D) (&) (iz)

50. Which among the following statements is not true about Euro Rail ?

(e)
(123
8
(z2)
(@)

(d)
(i)

(Ziz)

@)
(iv)

Match List-T with List-II and select the correct answer using the codes given

List-II
(Modes of Transport)
(#) Taxi
(&) Aircraft
(2) Train

(iv) Sea Cruise

|

(A) All major routes are served by premier and comfortable high speed:

trains

(B) Night trains for the long distances private and shared cabins are

available

(C) Scenic trains with exciting views and relaxing trips

(D) All of the above are true
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9.  [H-1 = -1 ¥ ghtem =g aa ghad & AR T3 @ 7 5 | w0 I

H1 FE HIAY :
-1 wqeE-11
(vregTaet) (FraraTE @ |
(@) <oz woRe . (@) =
(b) =Ty e 'Y (i) TIATHTR
() = (i) T
(d) udH. I3 FR (iv) H &9
T :
(@) () (€) (d)
A @ (i) (ii7) (iv)
(B) (i) @) W (iid)
(C) Gv) (izd) (e1) ()
(D) G (1) () (iv)

50. Frefetos § @ =9 w99 90 @ ow AR F w9 A8 £ 2
(A) Bt g mE dif ad smEEE Iwa i t@ de 23 ¥
(B) et gh 3 ufx Ienfeal foil qo wEn SfE STe w0 E
(C) ¥ER\ @ w3 A9R Ud AHeEs Al [ied

(D) =ydsa ot o= ¥
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